= o —
BEXMEECLEDSMMAE2AAIEE [ 0333 ]
HIND—ERIL. BXMEEDATEHHIZEFT2AEE (S 1m)ERH LE-ED T,
- B E 5 - 4 [E8IE 5 Ay
- — KR S HH4E2A
VA B (] - S
. _ = [BAI: uSv/h] [ Ay 1 BE| EMEE
ZX S5 7K BT FRIE R e F
03Z3% | E/KET — R e o34 or
Dis AL —x étﬂ; 0.08 1934 01
03Z3k | E/KET =R B o ED o
03B | AKAT ST 5T o 700 0
03Z% | SA/KAT N =i N 843 0
03%4% A0 %_:/J: %5'&16 0.14 1842 03
03Z3% | E/KET i i e 1867 0
o3§i S5 7K BT i b Fl o3 054 o
(REE3 335 7K ET —EE 5 S 557 02
s 2 %15 Eih 0.19 1887 02
3R | AKAT hE o s e85 0
i = A I} B 0.09 1889 03
o Bk % ;q% (e 0.09 1934 02
ue i & FAI7ILE 0.09 1938 03
e BR - ?J\;oww 0.20 1939 01
ue B ﬁ; : BF 0.15 1844 01
o = w:‘ z EHih 0.23 1844 03
ue i jq;a/& FAI7ILE 0.11 1892 01
s ax i/ B 2ih 0.12 1889 01
ue i ) FAI7ILE 0.08 1843 01
o o A=) 2ih 0.07 1843 02
o = 4] Eih 0.07 1843 03
nez A ] FAI7ILE 0.07 1843 04
ue i :EJZ FAI7ILE 0.10 1843 05
nez A X j‘l:m_u_ FAI7ILE 0.16 2032 01
Lax 2z E/Wﬁll FAI7ILE 0.12 1939 02
ue s 1[@* 2n FAI7ILE 0.15 1986 01
Bax o fgﬂgﬁl FAI7ILE 0.09 1891 01
s s "—n/p%” FAI7ILE 0.14 1891 02
Bax o ):T:/Vq FAI7ILE 0.12 1892 02
ue s £7 FAI7ILE 0.08 1892 03
Bax o ,é:m FAI7ILE 0.11 1890 04
ue s E”f] FAI7ILE 0.20 2032 02
Bax o ﬁu:*m FAI7ILE 0.17 2032 03
s 2R 1& ] FAI7ILE 0.16 1986 02
Bax o Lﬂfﬂq FAI7ILE 0.15 1986 03
ot e = / HIl %%ﬂn 0.12 1891 03
nez Zod [ B F 0.07 1888 02
o oI 2ih 0.10 1935 01
Bax a1 FAI7ILE 0.11 1935 02
ue e FAI7ILE 0.11 1935 05
0 = 2Am-I0 7J\x77)|/|~ 0.07 1935 03
sax 11 A 0.12 1935 04
ugz =11 FAI7ILE 0.09 1936 01
nas e FAI7ILE 0.11 1936 04
ugz =11 FAI7ILE 0.09 1981 01
nas e FAI7ILE 0.08 1981 02
ugz =11 FAI7ILE 0.07 1981 03
o o=t B 0.11 1981 04
ugz =11 FAI7ILE 0.08 1982 01
Dig b= 1 goww 0.12 1982 02
ugz =11 = h 0.09 1982 03
nas e L\%IJ 0.12 1982 04
D% SAm_TE a4y —k 0.12 1982 07
nas S giﬂ 0.08 1982 08
uaz =11 h 0.08 1889 02
2 2 RET = . 189
(KEE3 EXBI=TH FAI7ILE 0.10 1898 8§

1 R—




BXEBILOSMAE2AAIEE [ 03%3 ]
KID—ERIG. EXAEEOATHHIH T HATEBES1m) ERBLILOTT,
RIEISFr S ERIE S Aya
=N T o SH4E2R
K= INF [BfI: uSv/h] | Ay BE | BFFES
BEEX | EXEI=TH =it 0.07 1890 05
03ZE 3k EEEI=TH 2t 0.07 1890 06
03EE | ZXE=TH =it 0.07 1891 04
03k | EREI=TH FAI7 Ik 0.15 1891 05
03X | EXRHT=TH i 0.06 1891 06
03Z& % EETOIZRNE b F] 0.06 1936 02
03%FX | EXRHETMUTH FAI7IE 0.13 1936 03
03K | ERETUTH FZI7ILE 017 1937 01
033X | EXHEIMTH B F 0.11 1937 02
03k | ERETUTH FAI7ILE 013 1937 03
03FER | EXEMTH By 0.06 1937 04
03&E EXMIOTH R 0.07 1937 05
03FEX | EXEMTH iy 0.08 1937 07
03k | ERETUTH FZI7ILE 0.07 1938 01
03K | =XRHEINTH FRI7IVE 0.14 1938 02
032k | EXHTATH FRI7IVE 0.12 1937 06
03X | EXWATH B 0.07 1982 05
03X | EXRHEATH FAI7 )b 0.11 1983 01
03X | EXHMATH iy 0.11 1983 02
03F% | ERHATH FAIFIVE 0.11 1983 03
03EX | EXEATH E i 0.15 1984 03
03Z 3k EET NN 2t 0.09 1982 06
03=3% | ZEXHENTH T RI7IE 0.08 1983 04
03EE | SREATH B 0.06 1983 05
03FX | EXAATH Rt 0.12 2029 03
03& % ZEEETAT B Rith 0.07 2030 01
033 | ZEXENTH FAI7IE 0.09 2030 02
03Z % EXETET B B F 0.13 1984 01
03ZEX | EXEtTH E i 0.18 1984 02
03ZE%X | ZXEtTH Zith 0.07 2030 04
03k | =XRHETEtTH FAIF7IVE 0.12 2030 05
03ZE%X | BXEtTH Zith 0.10 2031 0f
033 | EXET\TH FAIF7ILE 0.14 1939 03
03EX | EXE/\TH E i 0.10 1985 01
03k | EXET\TH FAI7ILE 0.18 1985 02
03EX | EXE/\TH B 0.21 1985 03
03ZEX | EXE/\TH & 0.09 1985 04
032X | EXET\TH FRI7IE 0.15 1985 05
03&F 3% EXET/\TH FAI7IE 0.14 1985 06
03EX | EXE/\TH B A 0.14 2031 02

2 "=




